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It was not necessary to mention n°2»72, only to include a nook

OVERVIEW

1M " says that the word "n*9»75m", that is mentioned in the Xn»92 comes to
include (that) a n»71 7P (is a N°9»12). MOOIN question is; why does not I ' say
instead that it comes to include 2"737 >7%.

Concerning s 19X " view (that "7 2"773 2"71 »7%),’ there is seemingly a npY>mn
what he maintains by 91917 X3°X7 X2°7 71"177 *7X; where X995 27 maintains 27 7"772
and X"97 7°72 X" (seemingly) maintains "7 N°91723.

mooIn replies to an anticipated question:
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11m° "1 did not want to say that it was necessary to mention n°91727 in order to
inform us that >4''577 97 is also a n*on5 —

mooIn responds:

— 919N 1NA NN IDIAN) M7 D297 NIV MMYHN 23957 DIvn
because according to 21¥v9X 521 the 2''777 972 have the status of a 2'';19, and not
of a n™>»n13 and even when there are stakes® by the 1" *7¢ (which separate it from the
1" proper), nevertheless X" still maintains” that it is a 2"79, therefore 71 Y does not want to

say that the ¥n>92 includes 1"771 7% as a N°9173, because 1Y " prefers to maintain the Xn»71 is
according to everyone including X"A.

This approach seems to indicate that 137> "3 sides with X959 17, who maintains that according to
X"9 the 7"77 °7% are "»7 71"7712 even where *919°1 X2°X7. However, there is the opinion of XnX 27
XX 277 772, who seemingly maintains that &"9 differentiates in 7"77 7% whether there are no

' See previously X,).

2 Concerning 1"71 >7¢ we already learnt (8,1 q7) that there is a NP1 between the 1127 who maintain that it is n°7n735
and TR "27 who maintains *»7 1"7713. Our M0N0 responds to the following question; instead of including a 17
n11, where we have no precedent that it is a n°2173, it would be more appropriate for >3 to include 2"77 7%, where
we already know that the X"17 1127 consider it a n°2n13. [Alternately, there is a greater w1 7°n that n°on733 1"77 7%
than n*7 177 is a n°on3; see “Thinking it over” # 1.]

3 Therefore we cannot even say that the Xn>>72 wishes to include *9°1 7% n°RT 827 1"77 7%, because even then,
there is an opinion that it is "7 7"772.

* See X271 7" X,1 '01 where Mmoo asserts that X99 27 maintains according to X" that "7 7"712 7"711 *78, even when
there are 5.
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*919°17 (then it is a 7"777), or whether there are *219°17 (then it is a n°2n12), even according to X"; so
why did not 33m° " interpret the Xn»92 that it comes to include 91517 X3°X7 X2>°7 7"77 *7X, where
according to X"77 2 R" it is a ¥"37 nHnI.

ND0IN answers:
—INY ON TYIYN 29 10D N7 OX NPY NP NIV IN
or perhaps we can say that 13m ", who is making this statement, is uncertain

whether or not X' agrees’ to the 1111 in a case where M5 XX, that it is a n™naa,
therefore he chose not to mention it, not to get involved in something he was not sure of.

SUMMARY

1m° " either agrees with X959 17 that according to X2°7 DX 27 71"772 7"77 77X X"
519°17 RD°K7T, or he 1s unsure what is the view of X"9 in this case. Therefore he chose
not to discuss it.

THINKING IT OVER
1. According to 1¥°7& °21 what is the status of a 7"717% 72107 N1 1p?°

2. Why does npoin give two answers, instead of one?

> We may say that >"9 is uncertain whether X9 27 or X7 712 X" is correct. Alternatively we may say that he is
even uncertain if X"77 772 X"9, said his statement in a definitive manner, or he was merely questioning the
assumption of 55 11.

See 012K "9, that 13177 "1 seemingly cannot maintain with certainty that everyone maintains °»7 7"713 W 2"77 "7
919 RI'RT KI'1, because 1171 " on X,) A7 forgoes the option of saying "R113 "X J7OWKR" in the case of 1"77 *7X, he
chooses rather the case of yor 7°2v17, and it may be for this reason because "7 ,7°2 Xpoon 5"795.

6 See onn "7 2,7 MdOIN.
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